X285 o=
7|k
PABRON KIDS COLD GRANULES
@PABRON KIDS COLD GRANULES = 7|&, 3, &, § 40| &4 2at7t = ofzlo|g 7|4 L|Ct
@02I0|7} Eotsts EI|Eo| 28317 |2 OIHAME, =HS Wdlist= 7ol S2 ZEE AKX &2 ofZI0|ofA|
Hotsk akQlL|Ct,
LA 7|H 9 & RES O{EAE e HEA i 42 H. PABRON KIDS COLD GRANULES 2 A&3t HX|E ¢t
Fo= B2 MESHH st E A of FHAIL
#4719l ZE 4 (71H, RE, €8, =2 5, A7, tef, 2ot @t (¢ ME 23, F&§ AEE, 288) 2 &3t

CHS ol ¥2 M=z 713X 30 £ O|Wof = £& O/X|23t 21t BH S8t AL
7H~10M, 12 12,12 33
3M~6M, 13 2/3%,1¢ 33
TM~2M,12 12%, 1Y 33
1M OIEH 58X & A
9
BT 8 -B8ES A FHALL
- 200 A E8HA & 4R+ ETX Xk HFOI0| SEIEE StuAIL.
-2 M| O|2tel FROLO|A= QAte| RE RMHoE A dta, 2503t 4200 S8IEE SHUAR

=

1 (0968
E[FX|EE200|E  125mg
FOto|H LA 25mg
22§ Ltol i 1.2mg
OtMEOtO| = 150mg
Hot=
B i, S5 e, WE D-OHL|E, OfALME (L-HEYatl 3EHE), OtMEE ZE, A2 A,
SIOIEEAZZZMERRA, MM 35 OIOFAHOOIE, &, HHEl, ofE Hdal

A8 &9l F9|

FOEF
=

=X £0HE0|X| T, 7|2

M= e El= A
(RI7IX] 0B Hxfol
oCH20l BiTots ALY

=X EE 2RO

=X £ CHE 2719,
00| %S =83t Sot2 ¢

#71%, g TSH,

Xt
x|
FXl OHdAIL

g 27| 42

ofo
ne

ol

2107

[

S|

T A EE VAR 2H

SOl LIEfE & ASHCh
=3 otA| DAL

ESre
1 AHE3HA| Oy Al

i

A

O A}, SFAt
1 As ME.

AHE.

E SEHORe AEs

o g

A2

e 1o

o

-_

18 October 2023 1 / 2page



AlQ

<1
10
uld
<0

ot

F

OH X+t

i 2

ud

Hlx7|:

, =2

o=
= o

7t

[=)
-

o
—

7],

i

A2

A
—

=
=

=t A O]
=2 T M=l
£ 71HEE, 7287,

(@)
=

M2 Xt

3

—

.
o

7|El It=

JH

SEE R Yo wez W

ol #& S0| LIEFHEL

Klo

™
30

or

Of LtEFFCE

|

=)

L2, 228 (OFCIOL 7t OFE 34, A

9

A
—

x
(s

.|

I

S
T o

Al
—

.l

VS
(hil]

1

a

F ZF
(=}

=
o

il
& SO| LtEFHCE

LFERLEALE R|ZEITH

LHEFEFCY.

o
PoF
ol
[y}
Klo
ol
olo
Hr
14
=)
oF
®o
ol
H
ol
N(J
Klo
i
H
4r
K of
73
o 0 <
[
503
w ol %o
Ta
S ©° Lm.
g_ =
_U —_
=
0
Ol nr
o< _.__o
<k
(=
o=
] ._murﬂ
O -
20 oM_
Klo
7
o &
DI ~N
o _.__k_e
™ Ofo H0
o Hr XU K

2 / 2page

ZHOH Rh2t
= XX @S

o
[=]

H

X
AH

F

.
o
[

Of i

—

[

= gAh

Lch
OlM 25t 2 O|Lf0] SESHUAIR.

x| 3
o|lg7|7|
R

a1
o

g
=,

| ol
bt A

.
o

°

Al2.

ol
MBS 4oz oKLt 1 HE2AM HMIEs AYuch 1

=AHof o

o
e ol

AL,

A
=

el

[

A7 L2 =2l o

RS

frn
[=)

iz
=

H

| -

=

ShalA2

b

71 L& e A
- Chelo] HE 8=

F

- CHOIO] M= HEO| 7|X| LHEo| 7|Qls)A

[CHO HE SE HSOf

18 October 2023




